ASSIGVMENT 12 — LOGS ¢ EXPONENTIAL FoncTION S

1 Simplify:
Z
@ (+ x“i)
(b) 2log,2+log,15-1og,12

RS
3f,,2

Yy

(© Sx%y_2 =+

2 If x=12.4, find the value of:
L S5x—3
8% +1
. Ogm[ xa }

giving your answer correct to two significant figures,

3 Solve for x:
(@ V275 =1
(b) 2%3 =149 (answer to one decimal place)
| log,7
log, 7 =822
() log: log,5
4 Consider the function y=1-¢".

(a) Use the first derivative to prove that as x increases, the value
of y decreases.

(b) Use the second derivative to show that the curve is always
concave down.

(c) State the natural domain and range of the function.

(d) Whatis the equation of the asymptote to this curve?




~3K
2 at the point where

S Find the gradient of the curve y = c

x3 +
x=0.23.

6 Show that the curve y = log,(log, x) has no turning points.

7 Show that 1 — 1 = 1
x+3 x+4 x*+7x+12

‘7 dx
Hence evaluate :
25 X“+7x+12

8 Evaluate, correct to two decimal places:

x> dx
@ j; x3+3
g ~e*
®) 0 +e* ax

9 Find the area under the curve y = e* between x =0 and x = 2,
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412 4 -4 “/.2.4
@) cay (x"‘} * z(x‘}('x‘] + (x }

1 °o -/
= x + 2x * X

- + L
= X + 2 x

15
¢b) 2/&;,,_2 * /Oja(?._z)
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e (455 ) = e
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(3) (a} ({/—27;)3:/3

X X o
27 =/ °or 27 = 27
x o
(33} = 3 X = O
Jx = 0
X =0
x-3
6) 2 = /14-9
x~3)
gy 2 = tege 1T

-9
Y, S /?}zo +7 - €-9 (o /d.p/
e 2
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Iog2 7

(5/ dm?e of bace )

) (c) IO/x 7 =
MZ"7
/?/.zf
L. XK=S
c4) Ca) g - r-e”
dy X
a—x" s ~€ Qo o >, - — - -4
a’ x
6 ) dxz - ~e < © S/ince e >0
. concave downwarde
¢cc ) D Al real x R : /41
N N __16 b ; 4/&/ ”Vﬁ/('
(A ) / =/ is ThHe 62“"/7°" of e orFe ?
-3x -3x 3
¢5) ; . f _ e y = X +4
4 ~Ix
x+4 g’ = -3¢ p! = 3x*
-3¢ -3%
o, =3(re)e - ¢ Lax®
(zc”+4)""
-FH 2
. Je [""- "4"‘-3]
X +4)*
At x> ©.23 dj -6.//64?...
wr— ~ ——
ax 16+ 097. ..

-0.38 (o 2a,p)




Letr d =/rx

(6 él=/a(/a’()=/au.
‘e L
JI: L xu’ 4 T x
u
= / X -,.
/nx x
= 1/’ #£ O Ror ary x value.,
n x
o Jfa/-rbna/y poinl exor. Herce no fumu’of poinls
(7 s s (x+4) -~ (x+3) X +4-%x-3
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- / = R AHS,
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-~
(5) .[I - 4 (wose : /-—————ﬂ(u qx ””’NU*C)

e;( " e*& ﬁ(x)

{
» - X ]
(e +¢€ ]o

2]

[/n (eve’) -/ (cofeo)]

tn (7-006...) = (n2

0-43 (to 2dp.)

L , 4
(9) Shaded area = / e dx 2z
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